LASTNAME: SOLUTIONS
FIRST NAME:
STUDENT NUMBER:

QUIZ 1 (A)
DAWSON COLLEGE
201-NYC-05 - Linear Algebra
Instructor: E. Richer
Date: June 12th 2008

Quésﬁon 1. (5 marks) : :
Determine which of the following matrices are in row echelon form, or in reduced

row echelon form:
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* The following matrix (matrices) is (afe) in row echelon form: A C E

—The followmgmatnx (matnces) 18 (are) inreduced row echelon form C" E




Question 2. (5 marks) | .
Find the solution set of the linear equation 3x —2y +z =

1
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Question 3. (5 marks)

~ Find the solution set of the system of linear: equatlons Whose augmented matrix is
‘given below in row echelon form. '
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Quésﬁon 4. (5 marks)

Find the solution set of the following system of linear equations
X1 +2x34+x4 =0
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